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A physical quantitg P is related to
observations a, b. ¢ and d as follows:
|

P = q3p2 f('\/J ;

The percentage errors of measurement in a, b,
cand d are 1%, 3%, 2%. and 4% respcc'twel)’-
The percentage error ‘in the quantity 7 1S

( 29% 2y 13%

(3) 15% 4) 10%

The intensity of transmitted light when a
polaroid sheet, placed between two crosse.d
polaroids at 2250 frc;ni the polarization axis
of one of the polaroid}_i‘S (Io is the intensity of
polarised light after passing through the first
polaroid): v

Iy Iy
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A 2 amp current isi‘.."gl'lowing through two
different small circular copper coils having
radii ratio 1:2. The ratio of their respective
magnetic moments will be

(1) 12 (2) 2:1
(3) 4:1 _‘(_‘4? 1:4

=

Consider the diameteriof a spherical object
being measured with"the help of a Vernier
callipers. Suppose‘its 10 Vernier Scale
Divisions (V.S.D.) are’equal to its 9 Main Scale

Divisions (M.S.D.). Tjh; least division in the
M.S. is 0.1 cm and the zero of V.S. is 4t

x =0.1 cm when the jaws of Vernier callipers
are closed.

If the main scale reading for the diameter is
M=5cm and the number of coinciding

vernier division is 8, the measured diameter
afler zero error correction, is

(1) 5.08 ¢m, (2) 4.98cm
(3) 5.00c¢m (4) 5.18¢cm
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A photon and an elegtron (Mmass

the same energy~ [, Thcm) ay,
‘-.":I rutlh
(lphoton/)‘clcclron) Of their ¢, Beo |
Blig

wavelengths is: (¢ is tﬁégspccd of |ighu

i

@ o2

4 NP om

1™

(D cN2mE
1
3 c %m

De-Broglie wavelengti?%}" an elec
in the n =2 state of hydrogen ato
(Given Bohr radius = 0,052 1)
(1) 0.67 nm (2)! 1.67 nm

(3) 2.67 nm @) 0.067 nm

tron orbiy;,
m 15 CIOSE [;

An unpolarized light beam travel
. . - T
incident on a medium of refractiv
at Brewster’s angle. Tbe;'l-

Img in air is
¢ indey 1713

(1) reflected light is partially polarized gy
the angle of reﬂeéjf:li)n is close to 300

(2) both reflected ancl_j'_'iransmitted light are
perfectly polarized with angles of
reflection and refraction close to 600 apg
300, respectively.

(3) transmitted light is completely polarizeqd
with angle of refraction close to 300

(4) reflected light is completely polarized and
the angle of reflection is close to 600
Mg

The kinetic energies oéﬁvo similar cars A and
B are 100J) and 225J respectively. On
applying breaks, car Asstops after 1000 m and
car B stops after 1500 m. If F, and F are the
forces applied by the breaks on cars A and B.
respectively, then the ratio F /F is

1 E 2 —_
(D 3 (2)

l 3
A 3 4) 3

| Conti-
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,\. wire ol resistance R s cut into 8 equal
pm‘ccs. FFrom these picé¢j§ two cquiw::::dl
resistances are made by a:dding four of‘lhe"‘
together in parallel. Then-these two set 8
added in series. The net effective resislanf:ea:;

the combination is : g
& LR

- Rl R

M 3 (2) wi
R

® 3 X
8 C)) 64

[

An oxygen cylinder of \’},_t;l_ume 30 litre has
18.20 moles of oxygen. Aﬁer some oxygen is
withdrawn from the ciliinder, its gauge
pressure drops to 11 atmésf:uheric pressuré at
temperature 27°C. The mass of the oxygen
withdrawn from the cylindéf'is nearly equal to:

100

12
molecular mass of O, = 32

1 atm pressure = 1.01 % '105 N/m]
(1) 0.144 kg (2) *0.116 kg
(3) 0.156 kg ) 2_91.125 kg

[Given, R = J mol-'K-!, and

i
In a certain camera, a combination of four
similar thin convex lensesare arranged axially
in contact. Then the power of the combination
and the total magnification in comparison to
the power (p) and magnification (m) for each
lens will be, respectively =’
(1) p*and 4m (2) «4p and m*
3) p*and m* (4) “4p and 4m

£
AB is a part of an electrical ¢ircuit (see figure).
The potential difference~4V, — V", at the
instant when current i =2 A and is increasing
at a rate of 1 amp / second is:

—/YY\—ep

1H 5V 2Q
(1) 6 volt (2) 9 volt
(3) 10 volt (4) 5 volt

46_English |
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A body weighs 48 N on'the surface of the
carth. The gravitational If(_:‘rcc experienced by
the body due to the carthat a height equal to
one-third the radius of*the earth from its

surface is :
(1) 27N (2),-32 N
(3) 36N (416N

A full wave rectifier cireuit with diodes (D))
and (D,) is shown in the figure. If input supply
voltage V;, = 220sin (1007 1) volt, then at

t =15 msec

D, is reverse biase(':i:fpz is forward biased
D, and D, both are-forward biased

(M
)
(&)
“

D, and D, both arieg:ffevcrse biased

D, is forward bi:as_'sed, D, is reverse
biased

Two cities X and Y are é‘gfmccted by a regular
bus service with a bus leaving in either
direction every T min. ,&rgirl is driving scooty
with a speed of 60 km/h'in the direction X to
Y notices that a bus goes past her every
30 minutes in the dirccti\ﬁt\;} of her motion, and
every 10 minutes in tl{e{opposite direction.
Choose the correct option for the period T of
the bus service and the speed (assumed
constant) of the buses.

(1) 25 min, 100 km/h
(2) 10 min, 90 km/h
(3) 15 min, 120 km/h
(4) 9 min, 40 km/h

| Contd...
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sJectric dipole with dipole
m | 19 An elec m
. e centre onee in [0-0 Cm'is aligned with the direcy; m“m
16 The Sun rotates around | s f revolution 5x : tiop of
27 days, What {\‘ill be the pcr'md 0

- e clectric  field Of tnge. . R
i the Sun were (o expand to twice its present unufnrsr;”C The dipole i then Bniy, s
WA crglo expi \o? Assume 0° £ Otate a
radius without any external inl]ucm.u.?::i“l; 5l le of'66° with respect tq thd thr%@h
the Sun 10 be g sphere of uniform der an angle h: SO ¢ c!eclrit
o : ange in the potentiy 9
(M 105 duys O (2) 115 days field. The c _ g ener&y m‘lh.‘,
(3) 108 daysv=f  (4) 100 days dipole is : .
3 . 1) 1.0J (2) 127
tic ( A
17 The clectric field in a plane electromagne
. 3) 1.5 (4) 0.8
wave is given by.
E. =&licos (S.vri{:l_i.leoqt)me-
in T s
Then expressioh for the corresponding 20 A microscope has an objective of foca] le
magnetic field is'(here subscripts denote the ot "

(" 2 cm, eyepiece of focal length 4 cm a
direction of the, field) : e

P nd
tube length 0f40 cm. If the distance of

i 9 distinq
(1) B, =2x107/ cos (5x+1.5x10°0)T

vision of eye i$25 ¢m, the magnif;
microscope is
() B. =60cos (5x+1.5x10°1)T

<& (1 125 & @) 150

Cation i, the

3) By =60sin'(5x+1.5x10°H)T
Rl (3) 250 4) 100

@) By =2x107 cos (5x+1.5x10°)T
3 s
:‘“{ ' 21  The outptigj} (Y) of the given

18  Two identical charged conducting spheres it 3 .

A and B have t‘heir centres separated by a ‘mp ementatﬁl_c_)_? 'S similar to the Output

certain distance. Charge on each sphere is q a gate.

and the force of repulsion between them s E.

A third identichljuncharged conducting sphere

is brought in §0_htac( with sphere A first and

then with B and finally removed fro

New force of repulsion between sphe

B (Radij ongiéd B are negligibe

logic

of an

m both.
res A and
Compared

(3) — 3r
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22 Aunitorm rod of mass 20 kg and length 5m | 25 Which of the following options represent the
leans apainst o smooth vertical wall making an variation of photoelectric current with property
angle of 60° with it. The other end rests on a of light shown on the x-axis?
rough horizontal floor. The friction force that N
the Noor exerts on the rdd'is (take g = 10 m/s?) v

[ &
(1 10043 N (2)“‘200 N -
N 23 N
(3) 20043 N (4), 100 N g & ™
4 A. o < £)
=4 f P
' . & . o Intensity of ight g
23 The current passing through the battery in the
given circuit, is:
- N =
§= % fa
9 e
Lo L+ o]
g5 e
et o S -
5.5Q B .3 N
0 v - i
Intensity of light
4
1
3 g
w )
e E
3
(1) 054 @), 2.5 4 3
(3) 154 4)i 204 ¢. B
o &
24 A model for quantized-motion of an electron
in a uniform magnetic-field B states that the
flux passing through the orbit of the electron
is n(hle) where n is anrjpteger, h is Planck’s
constant and e is the magnitude of electron’s E
charge. According to the-model, the magnetic % E
moment of an electroiifin its lowest energy 23
; : o D. 28°
state will be (m is the }1‘?55 of the electron) &, %
N E < 7
. he (z‘t’: heB Frequcnc{gt light
) 2nm .,)- nm v
v
heB he () Aand C (2) Aand D
3) 2nm ) m
(3) Band D (4) Aonly
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d charge | 28 A pipe open at both ends has a fundamenty)
Tl and cha
6 An clectron (mass 910777 kg ar

] “in air. The pipe is now dippe
) i ith speed ¢/100 frequency f in air. The pipt;' gy Imr:[::hd
e |1- l‘-]‘. ';“;\;m-%‘ -:llcd] g magnelic vertically in a water drum to ha s length,
(© - speed ol light) is inje
1

The fundamental frequency of the air colump
_ " perpendicular : J
ficld B of magnitude 9104 T_PLFP""'CI byan IS now equal_lo
W its direction of motion. We wish to app

- . = ~
uniform electric field £ together with the (1 / (2)
magnetic ﬁcldfm that the electron dOl?S_T:;): |
deflect from ‘it path. Then (speed of ligh il
€ =3x108 ms-1 B) 2f ey (4) 9
- i = wRd
M Eis perpendicular to B and 4
its magnitude is 27x102 V m-"!

r
fd
tu‘“"“\.

29 A parallel plate capacitor made of circular
T = plates is being charged such that the surface
(2) £ 15 parallel 1o B and’a} =) charge density on its plates is increasing at g
'S magnitude is 27x102 V m constant rate,with time. The magnetic fielq
3) ? is paralle] 1o E and arising due .to;displacemcnt current is :
its magnitude is 27x10% V -1 (1) constant between the plates and zero
=3 - outside the plates
@ Eis Perpendicular to B and ) non-ze;o;everywhere with maximum at
its magnitude is 27x10% v ! the in;iziginary cylindrical surface
27 Consider a witer tank shown in the figure. connecting peripheries of the plates
It has one wall at x = [ ang can be taken (3) zero b"f:?%veen the plates and non-zero
o be very“wide in the z direction. outside
When filled with 4 liquid of surface tension §
and density P.the liquid surface makes angle (4) zero al_;a‘ll places
9000 <<1) with the x-axis at x = If y(x) is
the height of the surface then the equation for | 3¢ Three ider"lxl_i_cal heat conducting rods are
Y(x)is : 5 connected ip"_gseries as shown in the figure. The
v A rods on the sides have thermal conductivity 2K
- while thatin the middle has the

rmal
conductivity K. The left end of the
\_/ - combination is maintained

and the right end at T. The
insulated from outside.
temperature-at the lef junct

r~i at the right;.]_ljnction is 7.

at temperature 37
rods are thermally
In steady state,
ion is T, and that
The ratio )T, is

(take p(x)= Sin0(x)

=tan0(x):f{)i. g is the
N dx
acceleration due to gravity)

2 ™ ] = i
u’"_'.’ Py . d‘y ’pg 4 v 5
Ty 2 —= K5 2 =
() > S e dy? S M 3 @ 3
Loy e = 4 2
3) :E R dr S (3) 1 2

| Contd..,
46_FEnglish | 6

- A |

G Scanned with OKEN Scanner



31 A constant voltage of 50 V is maintained | 34  In an oscillating spring mass system, a spring
between the points A and B of the circuit is connected to a box filled with sand. As the

shown in the figure. The current through the box oscillates, sand leaks slowly out of the box
branch CD of the circuit is :

vertically so that the average frequency o(r)

C and average amplitude A(r) of the system
20 change with time /. Which one of the following
B options schemaucally depicts these changes
correctly?
4Q ‘ “
o(f)
..-_“" e =-
h_ ¢ t
50V () 40 ¥
(1) 204 © (2 254 _ - .
(3) 3.04 ;:‘* 4) 154 oy t
= X
32 Insome approprigte units, time (r) and position Y ;:_.;
(x) relation oftaymoving particle is given by o(t) /—_
t =x2 + x. The'deceleration of the particle is !:.
= N
2 yud 2 T >t
B 5w @ ¥ 3 ) >
M (2x+1) ) (x+1) A(D)
o ; . .
3) + 2 4) - 3 v -
<
¢

33  Two gases 4 "‘*ﬂd B are filled at the same
pressure in sepa;ate cylinders with movable

pistons of radius{?; and rp, respectively. On

3)
supplying an equal amount of heat to both the
systems rever5|bly under constant pressure, the -
pistons of gas A—End B are displaced by 16 cm e t
and 9 cm, respy ctwcly If the change in their e
internal em.rf,yqils the same, then the ratio '
3
r - (—_
A) is Lqualgtﬁ o(f) “
(ay 3 - @ 7 ¥ .
2 = 4
4 L J3 S A() f———
J3 4 N
3) = @ 3 -t
46_Fnglish | 7 | Contd...
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i i vom a larger solid
A sphere of radius R is cut [rom a larger s

radiis ; shown in the figure. The
sphere of radius 28 as shown lm { ¢ i
r:llliu of the moment of inertia of the 5:11;1”::;'
sphere to that of the rest part of the sphe
about the Y-axis is :
/FY
j ——X N
— 2R—
¥ 74
i e 7
1) — '\ 2y —
0 45 L0 =
7 o T
3) — N4 =
@ = OW
The plates of a [;zi_riallel plate capacitor are

separated by d. Two slabs of different dielectric

—_— 3 d
constant X, and K, with thickness ﬁd and 5>

respectively are ifn_séned in the capacitor. Due
to this, the capacitance becomes two times
larger than when there is nothing between the
plates. el

If K| = 1.25 K,, the value of K, is :

(1) 2.33 () 1.60

(3) 1.33 4 266

There are two inclined surfaces of equal length
(L) and same angle of inclination 45° with the
horizontal. One of them is rough and the other
is perfectly smooth. A given body takes 2 times
as much time to slide down on rough surface
than on the smooth surface. The coefficient of

kinetic friction (“k) between the object ang
the rough surface. is close to

(1) 040 ) 05

46_English ]
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A bob of heavy mass

string of length /. The
velocity v

mis suspcndcd b

o Yoo,
bob g 8iven 4, " *lig
nin figype. Ir

0 as Sh("!“’

the strj

8 :\’El.
ﬂ,n-glc{ o

slack at some point
the horizontal. the ratj
bob at point p ¢ its

- L VA oy
2+3sin0 -
=
[ i
cos @ A
(2) TP
2+3sin0
. 4
sin 0 A [t
(3) — i
2+3sin 0 ~
it
N

@) (sin0)/s v

A container has two chambers of volumes
Vi =2 litres and ¥, = 3 litres scpéi.'alcd bya
partition made of a thermal insii_l'_famr. Thc.
chambers contains np=5and n, <4 moles of
ideal gas at pressures p, = tatm aﬂf
P> = 2 atm, respectively. When lh‘?‘.[':mim“n”
removed, the mixture attains an ‘Lf‘qlll”lh””m
pressure of : —
(1) 1.6 atm (2) 1.4 amm
(3) 1.8 atm (4) 1.3 atm

[ Contd-
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40 'I'o‘:m ac power supply of 220 V at 50 Hz, a
resistor of 20 Q| a capacitor of reactance 25Q
and an inductor of reactance 45Q are
connected in serles The corresponding current

in the circuit an@}he phase angle between the
current and the yoltage is, respectively -

(1) 7.8 Aand 459
(2) 15.6 A and 30°
(3) 15.6 A and 45°
(4) 7.8 A and 30°

41  The radius of Martian orbit around the Sun is
about 4 times the radius of the orbit of
Mercury. The l\/fgaian year is 687 Earth days.
Then which of the following is the length of
1 year on Mercu‘r};{ ?

(1) 225 earth days
(2) 172 carth days
(3) 124 earth days
(4) 88 carth days
LA

42 A balloon is made of a material of surface
tension S and its inflation outlet (from where
gas is filled in it'?:!_ias small area 4. It is filled
with a gas of density p and takes a spherical
shape of radius R“"When the gas is allowed to
flow freely out of it, its radius r changes from
R to 0 (zero) in time T. If the speed v(r) of gas
coming out of the balloon depends on r as r“

and T oc S®AP pY'RO then
1

(1) a=‘%,ﬂ%%,ﬁ~—l,vﬁ——,5=%
(2) a=—%,a%§%,ﬂ=-—l,y=%,8=%
) u=12,a=;rs=—%,y=‘5,a=%
(4) ﬂ=%.tl=-;—.[3=—-l,y=+l.a=%

46_English |
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A particle of mass m is moving around the
origin with a constant force F pulling it
towards the origin. If Bohr model is used to
describe its motion, the ra&lips r of the n'" orbit
and the particle’s speed v.in the orbit depend

on n as L

1) renlf3; ve n2/3-

@ Focn?3; veen’

3) rocnB; ver 3

@) rocnl/3; ve nl/3

]

“1 £

Two identical point masses P and Q, suspended
from two separate massless springs of spring
constants k; and k, resﬁ?{ctively. oscillate
vertically. If their maxirr_il_ﬁ!rn speeds are the
same, the ratio (AQ/A p) ofithe amplitude A4,
of mass QO to the amplituc}c_iAP of mass P is:

3 o=
il

ky L)
(D E Q2) v 'k

ki ky
® \x, @ %
Li‘i?

O

A ball of mass 0.5 kg is driappcd from a height
of 40 m. The ball hits thejground and rises
to a height of 10 m. The impulse imparted t0
the ball during its collision with the ground is
(Take g=9.8 m/s>)

(1) 7NS 2 0

(3) 84 NS 4) 2INS

| Contd...
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ents - .
care IV v _ . ]Sldc
Jow dre s {s col
belo : |-‘c;-rom:11:‘"L“5'" -
([;1{1.""'""1 : r p;ifﬂmﬂgm’“b :

e form li - ;lirc
¢ an extreme !- The number of unpé

. S/ ¢ the same
5"""'"'?'::, Lo il @=24) 181
L,|L.|_-n-nl1_\ b

: | nr ; . Ve . ChOOSE {hc

-y iven below:
¢ options gIve
er from ‘lhﬁ p

d Statement 11

a .;1;1ch‘|'|

red

b Given

correct answW
(1 Both Statement 1 an
arc false )
i u
(2) Statement 118 lrlu'e}
is false o
Statement I 18 fq
is true < )
Both Statement f.and Statement

are true ™
l_:_'_'l

47 For the reaction” :A(g) =12B(g), the
backward reaction rate constant is higher than
the forward reaction rate constant by a factor
of 2500. at 1000 K.

[Given : R = 0.0831 'l:f‘)atm mol~! K1
K, for the reaction at’ 1000 K is

(1) 2077x10°  }(2) 0.033

(3) 0.021 l(éta') 83.1

{ Statement 1l

3) Ise but Statement 11
(- 3

(4

|

48 Total number of ;:i;ésible isomers (both
structural as well as stereoisomers) of cyclic
ethers of molecular formula C4HgO is ¢
(1) 8 ) 10
(3) I @) 6

. l:)

19 Given below are lwastatements ;
Statcmcnt_l t A hypothetical diatomic
molecule with bond order zero is quite stable.
Statement 11 : As bodd order increases, the
bond length increases'

In the light of the above Statements, choose the

most appropriate andwer from the opti

given below - i R

(1) Both Statement | ap
are false

(2) ..Rlulumcnl Lis try
15 false

(3) Statemeny | is |
IS trye

4) Bow Statemeny |
are frye

d Statement |

e but Statement 1

alse by Slnlumunl 1l

and Slulcmcnl {l

40 _Fuglis, |
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Identify the suitable reagent for
conversion.

0O

@J\ocrg—-) QY Che

(1) (i) AIH(iBu), (ii) H,0
(2) (i) NaBH,, (i) H/H,0
(3) H,/Pd-BaSO,

(4) (i) LIAIH,, (i) H7H,0

The major product of the follov\;i}l‘g reactiop
i 5

the f(,“%_
: 1

@) :

(i) CH;MgBr:

@’J\ACN (excess) '
(i) H;0* . 7

CH; on -
) @Xf\’( 3
o)

H,C_OH Ol *;

@) @X’\K\cm

CH; 0™

0

O ¥

3) (s
-0
CH; on

(]

If the molar conduclivil)ﬁ'(An1) of 3

0.050 mol L-! solution of a m"cfril'uhnsic \\caL.
acid is 90 S cm?2 mol-!, its extent (degree) of

dissociation will be
[Assume A5 =349.6Scm?2 mol-! and
AL =50.4Scm2 mol-1.]

(1) 0.125 )
(3) 0.215 (4

0.225
0.115

[ Contd-
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7
Which one of the following reactions d
NOT belong to “1. o

(1)

‘INH.IIHIL S tlest™?
[N |
2Na + S —— Na b8
A [ [ S
A NagS

\ l

*‘!
2CuO0O +C — i?}HCOZ

2
3)

(4 Na+C+N ™
T) NaCN

)
The correct order of decféasmg acidity of the
following aliphatic ac:ds.:s

(1) CH;COOH > (CH j’(;HCOOH >
(CH3);CCOOH > HCOOH

HCOOH > CH3CO®Tﬂ >
(CH5),CHCOOH > (CH,),CCOOH
HCOOH > (CH;);CCOOH >
(CH5),CHCOOH >-GH;COOH
(CH;);CCOOH > CCVT-L)ZCHCOOH >
CH;COOH > HCOQH

('-
e
£

()

3)

“4)

‘Match List I with List IE:

List I :jgist 11
(Name of iDeficiency
Vitamin) i:glisease)
A. Vitamin B, L #Cheilosis
B. Vitamin D II. Emf;onvulsions
C. Vitamin B, 1LE Rlckets
D. Vitamin By IV. ki?emlcmus anaemia
Choose the correct ansx;/-t:';r from the options
given below : '

(1) A-1V, B-lllI, C-L, D-11
(2) A-ll, B, C-1, D-1V
(3) A-1V, B-lII, C-1, D-I
4) A-l, B-11l, C-II, D-1V

46_English |
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Out of the following complex compounds,
which of the compoundiwill be having the
minimum conductance in'solution?

(1 [CU(NH3)4C]21

NH3 ]CIS

s

(2)

[ce
@) [Co(NH;3) c1]c1 '
[

@) [Co(NH;),Cl3] =
AT)

=i

Sugar ‘X’

A. is found in honey. :

?
i
B. isa keto sugar. i

C. exists in o and B = anomeric forms.

D. is lacvorotatory.

‘X' is: =

(1) D-Fructose (2 Maltose

(3) " Sucrose (4), D-Glucose
«1

How many products (mcludmg stereoisomers)
are expected from monochlorination of the
following compound?

H5C
~ecH—-CHy~ CH3
d 7
H;C '-.H
(1 3 (2@}1_5
3) 6 4):2

i
Which one of the f'o|loTv;'ing compounds can
exist as cis-trans isomers?
(1) 2-Methylhex-2-ene
(2) 1,1-Dimethylcyclopropane
(3) 1,2-Dimethylcyclohexane
4)

Pent-1-¢ne

| Contd...
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' (IOL‘S
n{ml‘lﬁ
Which one of the following ret

t?
NOT pive l\u.nnnb h" the pmdllc

l_ M.OA.O-‘
] e 210 - 20 atm.
(N n-hexane t?th. 10

(Y]

t&d hot Iron Tube
Q) H-C=CH ek

v

3) Q_ —N@ warm

t’**:
o Oofupe-
0

(T8 .
Phosphoric acid ionizes in three steps With

their ionization cofistant values

Ky, Ka2 and Kaz, respectively,
1

b _
while K is the ovggill ionization constant.

Which of the follg@ing statements are true?
y

A. logK =log ﬁ;l + log Ka2+ log Ka3

b |
B.  H3POy is avstronger acid than H,POZ

and HPOE_. ‘

3

C >K. XK
Kal ] [-.aS

=t
Ka, o4 Ka

Choose the corre“gli answer from the options
given below:

(1) A and C only
(2) B,CandD only
(3) A, B and C only
(4) A and B only

46_English |
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Among the following, choose the One
equal number of atoms.

A. 212 gof ?{azCO3 (s) [molar magg < 10
B. 248 ¢ ofNaZO (s) [molar masg = 62 ’ g
C. 240g ofNaOH (s) [molar masg = 40 .
D. 12gofH (S) [molar mass = 2 gl

E. 220 gof COz(g) [molar mass = 44’ gl
Choose the coFrect answer from the oy
given below :

(1) A, B,and [3 only

@) B,C, and',D only

(3) B,D, andE only

4) A, B, ands only
i‘ai

-
LD

Given below arg two statements :

§ Wilh

Statement I :*Cike nitrogen that can form
ammonia, arsenic can form arsine,

Statement II;z~Antimony cannot form
antimony penfoxide.

In the light oflil_%xé above statements, choose the

most appropriate answer from the options
given below i

b3
(1) Both Statement I and Statement I

are incorrect

)

Statement [ is correct but
Statement I is incorrect

)

Statemeﬂt"l is incorrect but Statement II
is correcﬁ

(4) Both Statément [ and Statement 11

are (:orrécti
(&)
W3

Dalton’s Atdmic theory could not explain
which of the fo lowing?

(1) Law of constant proportion
(2) Law of multiple proportion
(3) Law of gaseous volume

(4) Law of conservation of mass

l Contd-l'
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65 Tl‘u: correct order of decreasing basic strength | 68  The standard heat of formation:
of the given amines is : keal/mol of Ba?' is ’
@ 1: ethylethanamine > ethanamine > [Given : standard heat of formation of
enzenamine > N-—me
(2) N- clhylethanamme > tt:{\?:z:;r:ze > 502 ion (aq) = — 216 kcal/mol, :
N-methylaniline }abenlenamme standard heat of crystalhsdtlon 0 of
(3) benzenamine > ethanamine > BaSO,(s) = — 4.5 kcalfmol standard hezt]
N- m"thylanlllﬂe>N-—ethylethanamme formation of BaSOy (s) = — 349 kcal/mo
(4) N-methylaniline >“benzcnamme > (1) —133.0 @) +133.0
ethanamine > N-ethylethanamine (3) +220.5 __(4) — 1285
66  Which 01"‘ the following statements are true? 69 Among the given compounds 1-111, the correct
A. Unlike Ga that has a very high melting order of bond dissociation energy of C—H bond
point, Cs has a VBry low melting point. marked with * is : _
B. On Pauling scale the electronegativity st
values of N and Cl are not the same. - H
C. Ar K%, Cl, Ca2+‘, and S2- are all *
isoelectronic specxes
D. The correct order" of the first ionization
enthalpies of Na,__Mg, Al, and I _
Si is Si > Al > Mg > Na. e
E. The atomic radius of Cs is greater than (H 1>0>11 2) m>1>1
that of Li and Rb. 3) H>1=>1 @ u>1>11
Choose the correct answer from the options
given below : ™ 70  Predict the major product P’ in the following
(1) C and E only ?"“ sequence of reacttons -
(2) Cand D only fé '; w ® HBrjbenzoy! peroxide
(3) A, C, and E only, @/‘ 3 (ii) KON e B
(4) A,B,and E onlyr: (iil) Na (Hg)/C,H,OH (Major)
i
67 Match List - I with L,nst - 11 CH,
List-I List-1I (M CH,NH,
A. XeO; I. spd; linear
B. XeF, (L sp’; pyramidal CH,
C. XeOF, TFLF sp3d3; distorted @ pe
: . octahedral c -
D. XeFy 1V, sp3d2;.square =3
¢+ pyramidal NC ¢\
Choose the correct dnswer from the options 3) OL' CH,4 ‘:‘J‘
given below : ?"i-} el
(1) A-ll, B-l, C-l11, D=1V CH, i
2) A-1V, B-ll, C-I111, D-I @)
3) A-1V, B-ll, C-1, D-1lI CH,NH,
4) A-ll, B-1, C-1V, D-111

[ Cont
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71 Mateh List = 1 with List = 11
List-1 List-11
T, b st
A Haber process . Fe catalys
B.  Wacker okidation 1. PdCl,
(Y% l
C. Wilkinson catalyst 111 [(pph3)3R|1C]
D. Ziegler catalyst V. TiCly with
(d Al(CH3)4
Choose the correct answer from the options
given below :
(1)  A-IL, B-III, C-1, D-1V
(2) Al B-II, C-III, D-IV
(3) A-L, B-1V,"C-111, D-II
(4) A-I, B-11,.@-1V, D-III
72 Energy and ralitis of first Bohr orbit of

He" and Li2* re

[Given Ry, = 2?8 x 10718, a5 =52.9 pm]
(1) E,(Li**) =-8.72x10718; |
r (L2 =:564 pm
E,(He") =#19.62x10-18 J;
to(He) =17.6 pm
E,(Li?") E—J—i 9.62x10-16 J;
r (Li2*) =17.6 pm

E (He") = -8.72x10-16
r,(He™) =26.4 pm

E,(Li%*) ?ja—s.’/‘lemlﬁj;
ry(LiZ*) ﬁhfj;?.ﬁ pm

E,(He*) -I*--—I 9.62x10-16 J,
ry(He") =,17.6 pm

E(Li2*) £L119.62x10-18 ).
W(LiZY) = 17.6 pm

En(He') = —8.72x10-18 J,
r(He") =264 pm
46_English |
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75

76

Given below are two statements - ..
[abelled as Assertion (A) and the Othe, '\
labelled as Reason (R). Is
Assertion (A__)‘:_: NN Llndt:rgOCS g
reaction faster,than -~ _~_CI. N2
Reason (R) i:.';lodinc 15 a better leaving groy
because of its'large size. p
In the light of'lhe above statements, chg
correct answer from the options given
(1) Both Arand R are true but
correct explanation of A

A is true but R is false

A is false but R is true

.Both A éﬁ}i R are true and R is the ¢
explanation of A

Ose the
bcIOW:
R is not the

()
3)
(C))

Orrect

i

If the half—[if{éf(t”z) for a first order reactiop
is 1 minute, ;lfién the time required for 99,99,
completion of the reaction is closest (o -

(1) 4 minutes;
(3)

(2) 5 minutes

10 minutes (4) 2 minutes

Which of thgffo]lowing aqueous solution wil|
exhibit highest boiling point?

,,,,,

(1) 0.01M KNo,
(2) 0.01M Na,SO,
() 0.015M<C4H,,0,
(4) 0.01M Utea

Higher yield of NO in

N, (g) +02’@) =2NO(g) can be
obtained at i--

[AH ofthe;fﬁaction =+ 180.7 kJ mol™!]
A. higher temperature

B. lower t'é'?fzperature

C. higher E:é:nccntralion of N,

D. higher concentration of 0,

Choose the correct answer from the options
given below:

(1) B, C only
(3) A, C, D only

(2) B, C, D only
(4) A, D only

| Contd.-
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Match List T with List 11

List 1 List 11
“:":) (Group Numbper
M in Cation Analysis)
A, Chbs I Group-l
B. M“"' I Group-1]
C. Pl:ig . Group-1v
B. Ali:' V. Group-v]

Choose the correct
given below :

(1) AIII B-1V, C-1, D-11
) Alll B-1I, C-1V, D-]
3) Aﬁm B-II, C-1, D-1V
(4) ASllL, B-1V, C-I1, D-1

3
Ly

The ratio of the wavelengths of the light
absorbed by a Hydrogen atom when it
undergoesn=2 -5 n=3andn=4 — n=6
transitions, respectively, is

answer from the options

2 L
@ 5
ORv

The correct order of the wavelength of light
absorb_}éji; by the following complexes is,

o} [c&” H20)4]2+ D. [Ti(HzO)ﬁ]3+
1

Choose the correct answer from the options

given below:
() B<A<D<C
3) C<A<D<B

(2) C<D<A<B
(4) B<D<A<C

46_English |
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Identify the correct orders against the property
mentioned

A. 1,0 > NH; > CHCI; - dipole moment

B. XeF,; > XeOy > XeF, — number of lone
pairs on central atom

C. O-H=>C- H > N-O — bond length

D. N,>0, > lln, bond enthalpy

Choosc the corréct answer from the options
given below : ‘
(1) B, Donlyi____r_lf
(3) B, C only !

(2) A, C only
(4) A,Donly

Match List I with List II

List I List 11
(Mixture):;;; (Method of
- Separation)
A. CHCly+ L Distillation
CeHsNHy o under reduced
“ pressure
B. Crudeoilin; 1L Steam
pctroleum‘ ‘ distillation
industry
C. Glycerol fjpm 11l Fractional
spent-lye i~ distillation
D. Aniline - \r{‘féﬂz_ter IV. Simple
£ ; distillation

Choose the corFect answer from the options
given below : ™

(1) A-IV, B-IIL, C-11, D-I
(2) AL, B-IV, C-1, D-I1
(3) AL, BICIL D-1
@) A-IV, B-Iil, C-1, DIl

oy |

If the rate con%{fint of a reaction is 0.03 s\
how much timc.;jioes it take for 7.2 mol L
concentration of-the reactant to get reduced to
0.9 mol L-1? w4

(Given: log 2=0.301)
(1) 23.1s (2) 210s
(3) 21.0s @) 693

| Contd...
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83 Which among the I’ullnl\\'i‘ngI:‘Llj:‘ill]:;‘:::;;
configurations belong to mai prouj
L )
Ao INeds' B, [Arj3d'4s”
G II\’rI-hI'PS:s:SPS D. [Ar13d|045!
E. [Rn}sr%6d>7s _
Choose 1hcjcé)rrcct answer from the option
given below )
(1) A and Clonly
(2) D and E only
(3) A, Cand D only
(4) B and E only
e
84 Match List ~J with List - II
List-1 © List-II
(Examii‘]é) (Type of Solution)
A. Humidity 1. Solid in solid
B. Alloys w4 II. Liquid in gas
C. Amalgams I1I. Solid in gas
D. Smoke IV. Liquid in solid

Choose theij:f;)rrect answer from the options
given below.:

(1) A-lI, B=I, C-1V, D-III

(2) A-lil, B, C-IV, D-II

(3) A-IIl, B-ll, C-1, D-IV

(4) A-I, BTV, C-1, D-III

85 5 moles of liquid X and 10 moles of liquid Y

make a solution having a vapour pressure of

70 torr. The:vapour pressures of pure X and Y

are 63 torr and 78 torr respectively. Which of

the followipgs is true regarding the described

solution?

(1) The solution shows negative deviation.

(2) The sqlpjtion is ideal.

(3) The solution has volume greater than the
sum of individual volumes.

(4) The solution shows positive deviatjon,

46_English |
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C(s)+ 2H5(g) — CHy(g): AH = ~74.8 Ky
Which of the following diagrams . ha
accurate representation of the &

Cy.
{lh()ve res 8 an
[R — reactants; P — products|

Cigy,

—> Reaction progress

Energy .
(kJ mol™)

T

(2)

Energy
(kJ mol™1)

T

()

Energy
(kJ mol™ 1)

|

__)' Reaction progress

4

=i
Which one of the following compounds does
not decolourize bromine water?

[ Con [d...
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Consider the [ollnwing comy
YOoundyg -

KO, H,0, and 1,80
..-—‘.—q'
iy Ales of the unge
respectively,
+2, -2, and +¢ ¢

The oxidation st
in them are,

)
(2)
3
4)

rlined elements

+1, -2, and +4 ;i
+4, 4, and +6 1y
+l's _'1-1 and +6 ":—"Ii

- |

¥

Given below are two statements -

Statement I : Bep i

: zenediazonium i
pr?ga:g 7[3; the reactigbt}}of aniline with i?t]rto;:
aci - 278 K. dt:decomposes easily ;
i e % easily in

Statement II : Inserfion of iodine into the
. L e

benzene ring is difficult and h
iodobenzene is preparec it
e . p f:paggg through the reaction

0 en7:ene lazoniumsalt with KI.

In the light of the above statements, choose the

most appropriate answer from the options
given below :

(1) Both Statement _;_l__‘and Statement 11
are incorrect :j

Statement I is correct but Statement II
is incorrect

@
=l
(3) Statement I is incorrect but Statement 11
is correct ™

i

‘—v‘.]
Both Statement | ::?nd Statement 1
are correct :

“)

v

Which of the following are paramagnetic?

sy

e J
A [Nic B Ni(CO),
2- =f . 2+
c. [Ni(eN), | - [Ni(H20)g]
™
E. Ni(PPh3)4 (U

Choose the correct Erfliswer from the options
given below: ik

(1) B and E only

(2) A and D only

(3) A, D and E only

(4) A and C only

46_English |
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Match List = I with List - I1

List - 1 List - 11
A. Progesterone I. 'Pars intermedia
B. Relaxin 1. :()vary
C. Melanocyte I11. Adrenal
stimulating hormone Medulla

D. Catecholamines V. ‘éorpus luteum
Choose the correct answer ﬁ}or:_n the options
given below :

(1) A-1V, B-IL, C-1I1, D-1

(2) A-lL, B-1V, C-1, D-II

(3) A-IlI, B-II, C-1V, DI

4 A-1V, B-I11, C-1, D-I1I

The blue and white selectable markers have
been developed which _‘_f_c_i_ifferemiate
recombinant colonies from non-recombinant
colonies on the basis of their ability to produce
colour in the presence of a chromogenic
substrate. .

Given below are two staten{é{r’}ts about this
method: -

Statement I : The blue colouré:"'c'_flcolonies have
DNA insert in the piasmié.ﬁj{md they are
identified as recombinant coldﬁies.
Statement II : The colonies without blue
colour have DNA insert in the "p'l!asmid and are

identified as recombinant colonies.
In the light of the above statements, choose the
most appropriate answer fror the options
given below : e
(1) Both Statement I and Stzité.,mcm 11
are incorrect o
(2) Statement | is correct but ?‘;tntcmcm 1
is incorrect ]
(3) Statement 1 is incorrect but Statement 11
is correct
(4) Both Statement | and Statement 11
are correct

| Contd...
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sments .

5 . tat
Given below are two s d the ot

labelled as Assertion (A) an
labelled as Reason (R)-

Assertion (4) : Cells of the t
dense cytoplasm and generally

one nucleus. leus
i ne nuc
Reason (R)* Presence of more than 0

H 8]
in the tapetum increases t!le efﬁi;e;gher
nnurishingﬁibc developing microspo
cells. -

In light of\:tthe above statements,
most appi-o'priate answer from t
siven below :
}(Dl) Both A and R are true but R 18 NOT the
correctexplanation of A
A is frue but R is false
A is false but R is true
Both sEﬂlv-,?and R are true and R is the correct
explangtion of A

L0

LR

possess

a etum
P re than

have mo

choose the
he (}p[ions

2
(€)
(4)

Match List | with List I
ListT

A. Pteridophyte

B. Bryophyte I

C. Angidsherm 11I. Polytrichum

D. Gymﬁéépem IV. Salvinia

Choose the.pption with all correct matches.

(1) A-IVLB-III, C-I, D-II

(2) A-HIMB-1V, C-I, D-II

3) A-I\@-m, C-1I, D-I

(4) A-IIL, B-1V, C-II, D-I

94
List II

[. Salvia
Ginkgo

95  Match Lists I with List - II.
List -T}

A. Heart™™ L.

B. Kidney,

C. Gastrg«intestinal

tract 'O factor

D. Adreral Cortex  IV. Secretin

Choose the correct answer from the options

given below :

(1) A-1V, B-1II, C-II, D-I

(2) A-l, B-lI, C-1V, D-1I

(3) A-lIL, B-I, C-IV, D-I|

(4) A-1l, B-I, C-111, D-IV

46_English |

List - II
Erythropoietin
Il. Aldosterone
I1I. Atrial natriuretic

18

96

97

98

99

Who proposed that the genetic ¢ for

: am;
acids should be made up of three num_ﬂ{f’(}lnn
I v

(1) Francis C;ngk €5
(2) Jacque Mq?od

(3) Franklin SEahl

(4) George Gz;[fnow

|

Which of the following is

productivity of an Ecosystem?
(1) KCal m2-

2) KCal m3’

(3) (KCal m*%.)yr-l

@ gm? |

the unijy of

- %
N

Ry’

| i
Which of the following is an example of 3
zygomorphic flower?

(I) Datura £ (2) Pea
(3) Chilli 7 (4) Petunia

b

B ]
w1

Match List T with List 11 -
List1 0 List II
A. The Evil Quartet . Cryopreservation

B. Ex situ Il Alien species

conservation invasion
)
C. Lantana - IIl. Causes of
g it .
camara ., biodiversity
e losses
o
D. Dodo i IV. Extinction

Choose the O;Srt}ti:)n with all correct matches.
(1) A-IIl, B-1, C-II, D-1V
(2) A-lll, B-1V, C-II, D-I
(3) A-IlL, B-II, C-1V, D-I
(4) A-llI, B-11, C-1, D=1V

| Contd...

i 1

G Scanned with OKEN Scanner




100 Given below are (wy st

“ll.'n'll:l'llg »

In frog. the Renal portal system is a special

siatement | In ecos 104
unidirectional Now of c::) Stem, there is venous connection that acts to link :
a— Crgy :
producers (o consumers, "8Y of sun from (1) Liver and kidney
smlmncm‘ll : Ecosystems are ex (2) Kidney and intestine
ljmnh\l\: Tlt urzmodrnamiés. HeTpcd feam (3) Kidney and lower part of body
n the hight of the above S't"l. i i R
at 4) Liver and intestine
most appropriate ansywe ements, choose the @) L ad
given below : e!' from the options 3
(1) Both stateme O 105 Which of the following enzyme(syare NOT
are incomz;;:m l'and statement | essential for gene cloning?
: A. Restriction enzymes
(2) Statement I is correct byt sta NA ligase
is incorrect atement |1 B. DNA lig
(3) Statement I is incorrect byt t C. DHa mutase_ 4
is correct statement ] D. DNA I'CCOmbmi‘{Se
(@) Both statement I and'statement | E. DNA polymerdss .
are correct ~ at.ll Choose the correct-answer from the options
=t given below : o
101 The protein portion of a;:‘;;enzyme is called - (1) A and B only o
(1) Coenzyme Ly ' (2) Dand Eonly _:
(2) Apoenzyme -t (3) Band C only
(3) Prosthetic group (4) CandDonly
(4) Cofactor
ey 106 With the help of given pedigree, find out the
102 Twins are born to a family'that lives next door pl_'obablllty for f;he b'lrbth C{f'fl child ha\npg no
to you. The twins are a boy and a girl. Whicl disease and being a ¢arrier (has the disease
¢ )0Y rl. ich S 4 T
of the following must be true? matation in-One a}:l,-?le of the gene) in Fy
) generation.
(1) They are fraternal twins. -
(2) They were conceived through in vitro o
fertilization. -~
(3) They have 75% identical genetic content.
(4) They are monozygotic twins.
?_'_‘:t )
103 After maturation, in primiary lymphoid organs,
the lymphocytes migratéh}‘l‘or interaction with Fy E Cb é) ?
antigens to secondary rl}_f[nphoid organ(s) / [] Unafteted mle
tlSSUE(S) like: r’_: . Affected male ’ :
A. [hmeS B. t:bone marrow @ Carrier female i
C. splcen D. :lymph nodes O Unattected female
E. Peyer’s patches . . Affected female
Choose the correct answer from the options
given below: (nH 112 ) /8
3) C.D,Eonly (4 B,CD only
19 | Contd..
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Selic
: . x o « characterist!
Which ane of the tollowing is the chara

feature of gy mnosperms?

(1) Seeds are naked.
(2) Seeds are absent.
(3) Gymnosperms have flowers for

reproduction.
(4)  Sceds are eélosed in fruits.
The first menstruation is called :
(1) Menarche ' (2) Diapause
(3) Ovulation (4) Menopause

In bryophytes, the gemmae help in which one
of the following? -

(1) Asexual ..ﬂ_w__.,.ma:n:o:
(2) Nutrient u_u_mo_.._u:o:
(3) Gaseous exchange
(4) Sexual Rvamm_cn:o:

How many meiotié and mitotic divisions need
1o occur for the development of a mature
female gametophyte from the megaspore
mother cell in an angiosperm plant?

(1) 1 Meiosis and 2 Mitosis
(2) 1 Meiosis and 3 Mitosis
(3) No Meiosis and 2 Mitosis
(4) 2 Meiosis m:,n_ 3 Mitosis

Role of the waterivascular system in
Echinoderms is.:-:

A.  Respiration and Locomotion
B. Excretion and Locomotion
C. Capture m:.m__w_.mz%o: of food
D. Digestion and Respiration

E. Digestion and Excretion

Choose the correct answer from the options
given below : |

(1) AandC Only
(2) Band C Only
(3) B,Dand E Only
(4) Aand B Only
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114
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Read the following statements on p|
and development.
A. Parthenocarpy can be induced by a

ant ﬂHCF‘.—I

CXwJJ
B. Plant growth regulators can be inVolyeq
in promotion as well as inhibitigy, of

mqoﬁr.”ﬂ_
C. Dedifferentiation
re-differentiation.
Abscisic acid is a plant growth Promote;.
E. Apical dominance promotes the growth of
lateral buds.
Choose the option with all correct stateme
(1) A,C,Eonly () A, D,E only
(3) B,D,Eonly (4) A, B, C only

is a pre-requisite for

nts,

Which of the following type of 5._3_._:5‘ is
present at the time of birth and is 3 hon.
specific type of defence in the human body?

(1) Innate Immunity

(2) Cell-mediated Immunity
(3) Humoral-Immunity

(4) Acquired Immunity

Why can’t insulin be given orally to diabetic
patients?

(1) It will be digested in Gastro-Intestina|
(GI) tract

(2) Because ©of structural variation

(3) Its bioavgilability will be increased

(4) Humanbody will elicit strong immune

response.’

i

Which oné bf

of population?

() .&WH__.Z

K-N

Q) —=rN{

3) =N

(4

[ Contd..-
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Silencing of specifi
. : Ic m
RNAI because of - RNA

) Inhibitory mm_ﬂz%._,.“
(2) Complementary m.mw.;

IS possible via

4) OoSEanEmQ am,_mz>

5

3) 203-832033&@ SsRNA

Match List T with meh-m-

List I

_M List 11
A. Adenosine 2 Ni

. ) . M__..h..w Nitrogen base
B. Adenylicacid 4k  Nucleotid

; ] %

C. >ao:._:m mum. Nucleoside
D. Alanine V. Amino acid

Choose the option wi e
ption with all correct matches.

(1) A-IL B-IL, C-IV, Dil
2) AL, B-IL, C-I, D-IV
(3) AL B-IIL, C-I, DIV
(4) AL, B-1V, o__”E

Eamtis

Frogs respire In water; by skin and buccal

cavity and on land byiskin, buccal cavity and
lungs. i

Choose the correct answer from the
following :

(1) The statement is true for both the
environment
("
(2) The statement is false for water but true
for land i
(3) The statement is mm.HWn for both the
environment e
(4) The statement i true for water but false
-y

¥

for land

All living members of the class Cyclostomata

are:

(1) Endoparasite  (2) Symbiotic

120

121

(3) Ectoparasite  (4) Free living

46_English |
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Identify the tatement that is NOT correct.

(1) The heavy and light chains are held

together by disulfide bonds.

(2) Antigen E:a._:.m site is located at
C-terminal region of antibody molecules.
(3) Constant Rm._o:_,o*, heavy and light chains

are located at C-terminus of antibody

molecules.

(4) Each antibody has two light and two heavy

chains. -

L

Given below are tWwo statements @ one is
labelled as >mm2.3m..___ (A) and the other is
labelled as Reason (R).
Assertion (A) : The primary function of the
Golgi apparatus is 8 package the materials
made by the osao.ﬁ_mwa.ﬂn reticulum and
deliver it to ._::mhn___&.% targets and outside the
cell. ,..“,,._._,
Reason (R) : <nmw&mm containing materials
made by the endoplasmic reticulum fuse with
the cis face of the Golgi apparatus, and they
are modified and qmwawmma from the trans face
of the Golgi mﬁﬁﬁmﬁmm”.

[n the light of the mgw_.w statements, choose the

correct answer from the options given below:

i\

(1) Both A and R are true but R is not the

correct explanation of A
(2) Aistrue but R is false
(3) Ais false but R is true

(4) Both A and R are true and R is the correct
explanation of’ A

| Contd...
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Consider the following
ision for the human

i liv
A.  The reductive ¢ ;
arts carlier than

female L.lmuloi__n.nwa st
that of the malc gflmclogcncsm

B. The gap buwu:n the first meiotic division
and the second meiotic division is much
shorter for males compared to females.

C. The first polar body is associated with the
formation of the primary oocyte.

D. Luteinizing Hormone (LH) surge leads to
disintegration of the endometrium and

onset of menstrual bleeding.

Choose the correct answer from the options
given below :

(1) AandC are Etn'.le
(2) Band D are true
(3) BandC are truc
(4) A andB are true

Match List I with List IT :

List I ) List 11
A. Scutellum I. Persistent
nucellus

B. Non-albumindts 1.

L5

Cotyledon of

seed F Monocot seed
C. Epiblast ":‘-% I1I. Groundnut
D. Perisperm . IV. Rudimentary
. cotyledon

Choose the oplion with all correct matches.
(I)AIVBIIICIIDI
2) AIVBIIICIDII
(3) A-ll, B-1V, C-111, D-I
(4) A-ll, B-II1, CIVDI

E5y

What is the main fiinction of the spindle fibers
during mitosis ? ¥

(1) To synthesize new DNA
(2) To repair damaged DNA
(3) To regulate cell growth

(4) To separate the chromosomes

46_English |
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125 Which of the following statemenyg ah
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126

127

128

RuBisCO is true?

(1) 1t has higher affinity for OXygen thay
carbon dloxldc

(2) Itisan LI‘IZ) me involved in the phnu){
of water.

3) It cata]yzes the carboxylation UfRunp

) lItis actwe only in the dark.

Given below are two statements :
Statement I : The DNA fragments eXtracteq
from gel e!ectrophoresm can be used j,
construction of recombinant DNA.
Statement IL : Smaller size DNA fragments
are observed near anode while larger fragmeps
are found nearithe wells in an agarosc ge|,
In the light of the above statements, choose the
most appropriate answer from the optiong
given below :
(1) Both statement I and statement [1

are incorrect
(2) Statement I is correct but statement []

is mcorrcct

(3) Statement [ is incorrect but statement [
is correct

(4) Both statement [ and statement I
are correct

Which factor is important for termination of
transcription?

() o (sigrga) (2) p (rho)

3) v (garn,ﬁia) (4) o (alpha)
Consider the’ follomng statements regarding
function of adrenal medullary hormones :

A It causcs pupllary constriction

B. lItisa hyperglycemlc hormone

C. It causes piloerection

D. It increases strength of heart contraction

Choose the correct answer from the options
given below :

(1) B, Cand D Only
(2) A, Cand D Only
(3) D Only

(4) Cand D Only

| Contd...
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132

d with .
(1) Leueine & Lysine

(2) Phenylalanine & Leucin
(3) Phenylalanine &?)\rgini:
(4) Lysine & Argin%ﬁé )
Genes Rand Y follox?ti%de

IFRRYY produce round y
produce wrinkled greE}; s

pendent assortment.
ellow seeds and rryy

; eed :
phenotypic ratio of the o gsérzr;tti WT be the
! on?

(1) Phenotypic ratio - 3 i

(2) Phenotypic ratio_q—ll 9:3:3:1

(3) Phenotypic rati£§:~;9 +F l

(4) Phenotypic rati™ 1 :7 . |
5

=
™

Which Of_th_e fOI'IO‘Z;'E:éIg hormones released
:;;;tt}l:ael :;Ll:lsta?ry is a‘f;;aily synthesized in the
(1) Anti-diuretic hdi;ri\one (ADH)

(2) Follicle-stimulating hormone (FSH)

3) Adenoconicotr(zgklic hormone (ACTH)
(4) Luteinizing hormone (LH)

el
Given below are twjp statements : one is

labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : All :\Zépebrates are chordates

but all chordates are not vertebrate.

Reason (R) : The members of subphylum

vertebrata possessynotochord during the

embryonic period, the hotochord is replaced by

a cartilaginous or bony vertebral column in

adults. N

In the light of the abdj_"x{"i statements, choose the

correct answer from;}&f]e options given below:

(1) Both A and R are true but R is not the
correct explanation of A

(2) A is true but R is false

(3) A is false but R is true

(4) Both A and R are true and R is the correct
explanation of A

46_English |

23

133

134

135

Given below are two statements :
Statement I : Fig fruit is a non-vegetarian fruit
as it has enclosed fig wasps in it.
Statement II : Fig wasp and fig tree exhibit
mutual relationship as fig wasp completes its
life cycle in fig fruit and fig fruit gets
pollinated by fig wasp. r_l
In the light of the above statéments, choose the
most appropriate answert from the options
given below : o
(1) Both statement | and statement II

are incorrect

o~
o

Statement | is correct but statement 1
is incorrect 0

Statement | is incorrect but statement I1
is correct FL

Both statement I and :sti_ltement 1l

2)
€)

(4)

are correct i
Sweet potato and potato represent a certain
type of evolution. Select the correct

combination of terms to explain the evolution.
(1) Homology, divergent ;~:
(2) Homology, convergenf—jf';
(3) Analogy, divergent %
(4) Analogy, convergent w

o
]

Which of the following microbes is NOT
involved in the preparation of household

products? =

A. Aspergillus niger '

B. Lactobacillus ‘_ﬁ

C. Trichoderma pofyspoﬁ';ﬁw

D. Saccharomyces cerew‘_;jg;re

E. Propionibacterium sh:‘}}:};nam’i

Choose the correct answer-from the options
given below:

(1) A and C only
(2) C and D only
(3) C and E only
(4) A and B only

[ Contd...
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137

138
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- s piven [Toure.
as a foam braker from the given lig

() B
3) Cw

(2 D
4) A
o
Name thie class of enzyme that usually catalyze
the fol@"v.'ing reaction :
S-G+5 5 s+8%_G
Wherel.\_("j — a group other than hydrogen
S|— a substrate
83' — another substrate
(1) Lyase
3) Ligdse

(2) Transferase
(4) Hydrolase

Match List I with List 11 -

List I List II
Chlorophyll a 1. Yellow-green
Chlorophyll b 1.
Xanthophylls 11,

Czii'(?lenoids V.
IL\\

Yellow

Blue-green

o w>

Yellow to
W) Yellow-orange
Choos{lhe option with al] correct matches.
(1) A-lIL, B-1, C-11, Doy |

(2) A-l, B-11, C-1V, D-111

(3) A-l, B-1y, C-111, D-1)

(4) A-llI, B-1V, C-11, D-|

24

139 The correct sequence of events

140

141

f in lhc I”C .
of bryophytes is, S

A.  Fusion of antherozoid With o ;.
B. Attachment of gametophyte ¢,

Yelg

substratum.
. Reduction“division to rod
C Produce hﬂnloid
spores. "
D.  Formation of sporophyte.
E. Release of:antherozoids into Water.

Choose the correct answer fr

7= om the ()p[iOns
given below : &

() B.E.A.C'D  (2) B,E 45 D, ¢
() D,E.A.BIC (@) p E.A, C g
Match List - I With List - 11,

List-1 . List - 11
A. Centromeres . Mitochondrion
B. Cilium ”‘ II. Cell division
C. Cristae ° r . Cell MOvement
D. Cell memtlfgne Iv. Phospholipid

i Bilayer

Choose the correct answer
given below :

(1) A-II, B-1, €1V, D-I[]

() A-1V, B-lIp@-111, D-|

() A-Il, B-III{ C-1, D-1v

4 A-L B-II, C-JII, D-1v

from the Optiong

‘:l_‘_,
Find the correct statements -

A. In human ‘Pregnancy, the major organ
Systems are formed at the end of
12 weeks.

B. In human Pregnancy the major organ
systems are__:,fpnned at the end of 8 weeks,

C. Inhuman [:Sﬁégnancy heart is formed after

one monthéof gestation, :

In human-pregnancy, limbs and digits

develop by'the end of second month.

E. In human Pregnancy the appearance of
hair is usually observed in the fifth month.

Choose the correct answer from the options
given below : '

(1) Band C Only
(2) B,C,Dand E Only
) A,C,Dand E Only
(4) A and E Only

[ Contd...
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Each of the o]
a Kingdo p':)o“'“b Characterig;
he followine Posed by Whittake €8 represent
£ in incre; daRer Arrg
casing rrange
of body or 2anization. & order of Complcxﬁy

A. Multicellular |,

made of chitin

B. H "OphS wi
cl.crouophis With tissye/

aystem Iy, Organ/organ

Lo ody Organization,
i ; aryotes with ce|] wall

polysaccharides ang amino a 'dmade =
D. EukaryoticTay i

1 ryotic*autotrophs with tis

evel of body Organization, e
E. Eukaryotes

with

Organization cellular  body

Choose the correct answer from the options

given below :

(1) GE, A~[34¥ (2) A,C,E.D.B
G)Q&&&D(@Axﬁsﬁ

£
‘..‘

Which are correet?

A. Computed Tomography and magnetic

f-esonance imaging detect cancers of
internal organs.

B. Chemotherapeutics drugs are used to kill
non-cancerous cells.

C. o -interferon activate the cancer patients’
immune system and helps in destroying
the tumour._ }

D. Chemotherapeutlc drugs are biological
response modifiers.

E. In the case of leukaemia blood cell counts

are decreased.
Choose the correct answer from the options

given below: 4

(1) D and E only

(3) Aand C only

Which of the following genetically engineered
Eli Lilly to prepare

2) C and D only
4) B and D only

organisms was used by
human insulin?

(1) Yeast
(3) Phage

(2) Virus
(4) Bacterium

46_English |
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What is the pattern of inheritance for polygenic
trait?
(n
(2)
(3)
“4)

Non-mendelian inheritance pattern
Autosomal dominant pattern

X-linked recessive inheritance pattern

=4

Mendelian inheritance pattern

weeifd

Which ofrthe following are the post-
transcriptiohial events in an eukaryotic cell?
A. Transégz't of pre-mRNA to cytoplasm

prior to splicing.

B. Removal of introns and joining of exons.

C: Addition of methyl group at 5° end of
hnRNA.?

D. Addltlon of'ademne residues at 3* end of
hnRN A

E. Base p"i'a;iring of two complementary
RNAs., L6y

Choose the «correct answer from the options
given below

() B,C D only
(3) C, D, E only

(2) B,C,E only
(4) A, B, Conly

- ;
Which one.of the following phytohormones
promotes nutrient mobilization which helps in
the delay of' leaf senescence in plants?

) AbSClS_!‘l__% acid (2) Gibberellin

(3) Cytokinin (4) Ethylene

Which one of the following statements refers

to Reductignist Biology?

(1) Physiolégical approach to study and
understand living organisms.

2) Chemlcal approach to study and
understand living organisms.

3) Behawoural approach to study and
undersland living organisms.

4 Phymco-cht.chal approach to study and
understand living organisms.

| Contd..
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Mateh List < Fwith List - 1L

List - 1
A, Emphysema 1

B. Angina I,
Pectoris

C. Glomerulo-  111.
nephritis

List - 11

Rapid spasms in muscle
due 1o low Ca'" in
body MMuid

Damaged alveolar
walls and decreased
respiratory surface

Acute chest pain when
+.hot enough oxygen

“is' reaching to heart
“muscle

D. Tetany V.

Inflammation of
glomeruli of kidney

Choose the correct answer from the options

given below :

(1) A-IIl, B-I, C-11, D-1V
(2) A-Il, B-1V, C-I1L,,D-I
() A-Il, B-1Il, C-1V, D-I

(4) A-IIL, B-I, C-1,

D-II

Epiphytes that are growing on a mango branch
is an example of which of the following?

(1) Mutualism

(2) Predation

(3) Amensalism ~(4) Commensalism

Match List I with List II -

List-1 ¢

A. Alfred Hershey «
and Martha .
Chase

B. Euchromatin

C. Frederick

Griffith ¢
D. Heterochromatin :

i

List-II
I.  Streptococcus
pneumoniae

1. Densely packed
and dark-stained

lI. Loosely packed
and light-stained

IV. DNA as genetic
material
confirmation

Choose the correct answer from the options

given below

(1) A-1v, B, C-1I; D-111
(2) A-lv, B-111, C-1, D-1

(3) A-1, B-11, C-1v,

D-]

4) A, B-1v, C, D-111
46_Englig) |
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152 Which chromosome

154

in the hyy

. nan ge
the highest number of genes?

_,_C_.J.r. _.E
5

(1) Chromosome Y

(2) Chromosome |

(3) Chromosome 10

4) O_:.o_:ow_o.-:c X

What are the ."..ﬁ@_ﬁ::m_ drawbacksg in maoczcs
of the IVF method?

A. High FE:Q risk to mother

B.  Expensive instruments and reagen;s
I:m_umzaﬁm&wm necessary for being donors
Less adoption of orphansg

Not mé:%mﬂ_m in India

mm o0

Possibility that the early embryo

_ does noy
survive

Choose the correct answer fro
given below :

() A, C, U:._m.. only

m the optiong

(2) A, B, C,:D only
(3) A, B, Om F only
(4) B, D, F 6n

Match List - _.._M_?:_._ List - 11

List - | List - 11
A. Head — . Enzymes
B. Middle piece 11 Sperm motility
C. >n3m05ﬂw. . Energy
D. Tail IV.  Genetic material

Choose the correct answer from the options
given below 34

(1) A-1V, B-1II, C-11. D-1
(2) A-llL, B-1V, C-11. D-I
(3) A-IlL, B-II, C-1. D-1V
) A-1V, B-1II, C-1. D-11

[ Contd.-
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<& From the statements given be
g correct cr::: . = _,F_c,_c Sanse thie
A. The cukaryotic ribosomes are
prokaryotic ribosomes are qﬂ“ 80S and
B. Each ribosome has two sub ..
- -units
C. Thetwo sub-units of .
1150 80S ribosom
and 40S while that of 70 oy
et <3 are 50S and 30S.
D. e two m:@-::_wa_oﬁ 80S ribosome are 60S
and 20S and Em:ow 708 are 50S and 20S
E. The two sub-units of 80S are 60S and 308
and that of 70S"are 50S and 30S
(1) A, B, D are true
(2) A, B, E are true
(3) B,D,E are :,:..mu._
4) A, B, Care c.:?
156 (_,.\_,_Wo: of the wo.:oi.f.mm is an example of non-
distilled alcoholic cﬁmamo produced by yeast?
(1) Brandy (2) Beer
3) W:_: xlhhv Whisky
|
157 Who is known as m_wo father of Ecology in

India? £l
(1) Ramdeo Misra;,
(2) Ram Udar v
(3) Birbal Sahni
(4) S.R. Kashyap

o

S

In the seeds of cereals, the outer covering of
-t .
endosperm separates.the embryo by a protein-

158

rich layer called : 2%

2

=

(1) Coleorhiza
(2) Integument

(3) Aleurone layer

159 Which of the following statement is correct
about location of the male frog copulatory
pad?

(1) First digit of hind limb

Second digit of fore limb

(2) : .
(3) First digit of :_m fore limb
(4) First and Second digit of fore limb

A specialised BoW"_-wU..m:ocm structure in a
prokaryotic cell which helps in cell wall

formation, DNA replication and respiration is:

160

(N Chromatophores
ﬁMw Cristae £
(3) Endoplasmic Reticulum

(4) Mesosome

Given below are ?_,co statements :
Statement 1 : ,_._.m:m._.mn_. RNAs and ribosomal

RNA do not interactiwith mRNA.

Statement 1 : RNA interference (RNAI) takes
place in all eukaryotic organisms as a method
of cellular ﬁ_ﬁ,n:on.m.,..mﬂ._

In the light of the above statements, choose the
most appropriate answer from the options
given below : t
(1) Both Statement:] and Statement 11

are incorrect %

s
-

(2) Statement | is correct but Statement Il
is incorrect

(3) Stateément | is,incorrect but Statement 1l
is correct gt

(4) Both Statement 1 and Statement 11

are correct Mw

3
What is the name' m,.*. the blood vessel that
carries deoxygenatéd blood from the body to

the heart in a frog ?

161

fhee

162

(1) Pulmonary artery
(2) Pulmonary vein
(3) Vena cava

(4) Aorta

(4) Coleoptile

46_English |
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Given below are two statements @

s
In the RNA world, RNA
rinl c\-ul\-ml 1o

Statement |

considered the fivst genetic mate

. \5
NA acts
CATTY Ul essentig |l life processes. R

alyst for

w:ng

a penctic m.mn.\] and also as a cal
some important hih(‘ht‘lllit.l' reactions in |
systems. Being rxuulm, RNA is unstable.
Statement 11 : I)NA evolved from RNA and
Is a more stable Bcncuc material. Its dOUb.Ic
helical strands l\t;il;g complcmcnlary-. resist
changes by evolving repairing mechanism.
In the light of the above statements. ChOOSff the
most appropriate answer from the options
given below : ¢4

(1) Both slalcmcinit-l and statement 11
are incorrectt

(2) Statement | i;;éonccl but statement I
is incorrect ,-‘s

(3) Statement I i§ incorrect but statement 11
is correct |

(4) Both statement | and statement II

are correct fl”‘-.’
Which one of the:f?llowing is an example of
ex-situ consen'atioil?
(1) Wildlife Sarfc’ttﬂary
(2) Zoos and bo}ﬁhical gardens
(3) Protected areas
(4) National Par.rk._!

4

Which one of lhclﬁillowing enzymes contains
*Haem’ as the prosthetic group?
(1)
(2)
(3)
(4)

Carbonic an(‘tydrasc
Succinate dehydrogenase
. o

Catalase

RuBisCo

46_English |
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168

(iiven below arc the stages in the life qu‘

pteridophytes. Arrange the following Stages

the correct sequence.

A. Prothallus stage

B. Mciosis in sppre mother cells

" Fertilisation

C. Fertil .

D. Formation of archegonia and amht’nd;
;__ametophytc I

erozoids to the
E. Transfer of an}h archegon; .
in presence; of water.

Choose the correct answer from the Optiong
given below :

(1) B,AECD,

(2) D,E,C, A,iBé

(3) E D,C B.A

(4) B,A,D,EC

4
W0
Which of following organisms canno; fix
nitrogen? 20

A. Azotobacter B.  Oscillatoria

C. Anabaena D. Tolvox

E. Nostoc

g
e

=
Choose the correct answer from the options
given below:

s
e

(1) Donly % (2) Bonly
(3) Eonly  (4) Aonly

While trying to gf-'lrltd out the characteristic of a
newly found animal, a researcher did the
histology of adult-animal and observed a cavity
with presence of-mesodermal tissue towards
the body wall bﬁt no mesodermal tissue was
observed towards }he alimentary canal. What
could be the posmble coelome of that animal?
(1) Pseudocoeldrhate

(2) Schizocoelétmfate

(3) Spongocoelomate

(4) Acoelomate

[ Contd.
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" Given below gpe wo st

170

atemenyy .
Stateme .
tatement 1 : |y 4 ﬂm Al formyl,
n llllL of
ands for micnm ovary,

Statement 11 -

@ stundg for
the

zyvgomorphie

and G st fMower,

Il'l. nl ﬂ(}r
for dLllI'l('H'I'IOI“p]-“c.

and G stands for Supe

al formyly @ stands

Nature gof the flower

rior Ovary,

In the light of the abovye statem
e

correct answer from the optio
n

(M

nts, choose the

S given below:
Both Statement-l and Statement I
are incorrect

=

Statement | i IS¢
orrect but State
is incorrect ment 1l

el

(€))

ﬂ{r

Statement I is incorrect byt Statement 11

—

is correct 5

3)

4)

Both Statement 1 and Statement [J
are correct

o~

L

.
te—_

P

: 3

Given below are tvgo statements :

Statement I : Théi-»pnmary source of energy
in an ecosystem is*5élar energy.

Statement II : ']::}-12: rate of production of
organic matter during photosynthesis in an
ecosystem is called net primary productivity
(NPP). o
In the light of the a:Eéive statements, choose the
most appropriaté—answer from the options

given below : Pﬂ

(1) Both statemen _JI and statement 11
are incorrect ¥

. 11
(2) Statement I is correct but statement
is incorrect
(3) Statement I is incorrect but statement 1
is correct
Both statement | and statement Il

4)

are correct
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172

173

29

Which of the following diagrams is correct
with regard to the prr;ximal (P) and distal (1))
tubule of the Nephron.
P ' D
i1 1,0 HC
NaCl H,0 {NaCl 1.0 Ll( a,

(1) 1
N[f];\ L ﬁc\* H*
D
HCO . HO HD HOD,
5 [J,JN
HY NH,| | | m
g FLNI
P
CO; NaCl NaCl H!O 11:1(10'
" FLLV
H* H0 I Kt H*

il
Streptokinase p?éiﬂuced by bacterium
Streptococcus is used for
(1) Ethanol producuon
(2) Liver disease treatment
(3) Removing clots from blood vessels
(4) Curd productipn
Cardiac activities of the heart are regulated by:
A. Nodal tissue ..:

B. A special neu;al centre in the medulla
oblongata

C. Adrenal medull‘ii_f'} hormones
D. Adrenal cortical hormones

Choose the correct answer from the options
given below :

() A,B,Cand D

(2) A, Cand D Only
(3) A.Band D Only
(4) A, Band C Only
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174 Gnven helow are I
labelled as Assertion (A) 0
labelled as Reason {R]. .
v A typical unle

at maturity is

rtilised,
vssertion (A)
anpiosperm embryo sac
s nucleate and 7-¢elled.

' aratus has 2 polar
Reason (R) : Theegg apparatus

nuclei.
In the light of the above statemcnts. :
r from the options given below:

ts. choose the

correct answe '
(1) Both A and R arc true but R is NOT the

correct explanation of A

(2) A s true but R is false

(3) A is false bufi? is true

(4) Both A and Raare true and R is the correct
explanation of A

Find the stalcmen} that is NOT correct with
regard to the structure of monocot stem.

(1) Vascular bundles are scattered.

(2) Vascular bundiés are conjoint and closed.

(3) Phloem pareﬁﬁhyma is absent.
(4) Hypodermis is parenchymatous.

Given below are two statements : One is
labelled as Asseftlion (A) and the other is
labelled as Reason (R).

Assertion (A) : Both wind and water
pollinated flowers are not very colourful and
do not produce nectar.

Reason (R) : The f]owers produce enormous
amount of pollen grains in wind and water
pollinated flowers.

176

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both A and R are true but R is NOT the
correct explanation of A

(2) A s true but R is false
(3) A is false but R is true
(4) Both A and R are true and R is the correct

explanation of A
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177 Neoplastic characteristics of cell
Sr

178

179

180

o X efe
A. A mass ol proliferating ce) Flg

B. Rapid growth'of cells
cl I'nvasion and damage to the SUrr,

tissuc 'lm‘“'lg
D. Those confined to origina] locatioy,
Choose the correct answer from t
given below:

(I) A,B,Conly 2) A.B.D only
(3) B.C,D only * (4) A, B only
"
The complex II ot mitochondrial efec
transport chain is‘also known as
(1) Succinate de__[ij?drogcnasc
(2) Cytochrome c oxidase
(3) NADH dehydrogenase
(4) Cytochrome bc,

I'IC []pli(ml‘)

Ir{}n

Polymerase chafrﬁreaction (PCR) amplifies
DNA following the equation.

i N @ 2+
() N2 o @) N2
BamH1

EcoRI
B Galactosidase

amp

In the above représented plasmid an alien piece
of DNA is inserted at EcoRI site. Which of the
following stratt.egi_i:':si will be chosen to select the
recombinant colonies?

(1) Blue color colonies will be selected.

(2) White color colonies will be selected.
Blue color colonies grown on ampicillin

3)
plates can be selected.
v N atnine
(4) Using ampicillin & tetracyclin containing

medium plate.
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